
1 2

3 4

Rev. 02/22

DISCLAIMER FOR RALLY INNOVATIONS PRODUCTS: Buyers assume all risk and liability whatsoever for the installa�on and the use of Rally Innova�ons products. Rally Innova�ons products are sold 
as decora�ve accessories and should not be relied upon as protec�on for the vehicle or occupants in the event of a collision or roll over. Vehicles equipped with a supplemental restraint system 
(air bag) deployed by impact should not be modified by any a�ermarket Light Bar or Skid Guard without first consul�ng the vehicle manufacturer. Rally Innova�ons, a subsidiary of Pentech 
Automo�ve assumes no liability for injury, loss, incidental or consequen�al damages in the event of a collision or roll over.

INSTALLATION INSTRUCTIONS

PACKAGE CONTENTS TOOLS

Make:

Model:

Applica�on:

12mm Wrench/Socket
13mm Wrench/Socket
14mm Wrench/Socket
17mm Wrench/Socket

Skid Plate

Ford

2021+ Bronco Sport (1.5L 
Models)

QTYQTY

M8 x 50mm Hex Head Bolt
1.25” Long Round Spacer 

5/8” Long Round Spacer (Wider)
M10 x 90mm Hex Head Bolt
Skid Plate1

2

2
2

2

QTY

2 M10 Flat Washer
2 M8 Flat Washer

Locate and remove the (1) M8 Hex Head bolt & (1) M10 
Hex Head bolt (rear) underneath the front of the vehicle. 
Passenger side shown.

Remove the same bolts on the driver side.

Carefully raise the plate against the vehicle, aligning the 
holes with the holes on the vehicle. 

Place the 5/8” spacers between the rear-most holes on the skid 
plate and the chassis. Insert the new M10 Bolts into the holes and 
thread them into the chassis. Orientation: (1) M10 Bolt, (1) M10 
Washer, skid plate, short spacer.



5 6

Rev. 02/22

DISCLAIMER FOR RALLY INNOVATIONS PRODUCTS: Buyers assume all risk and liability whatsoever for the installa�on and the use of Rally Innova�ons products. Rally Innova�ons products are sold 
as decora�ve accessories and should not be relied upon as protec�on for the vehicle or occupants in the event of a collision or roll over. Vehicles equipped with a supplemental restraint system 
(air bag) deployed by impact should not be modified by any a�ermarket Light Bar or Skid Guard without first consul�ng the vehicle manufacturer. Rally Innova�ons, a subsidiary of Pentech 
Automo�ve assumes no liability for injury, loss, incidental or consequen�al damages in the event of a collision or roll over.

Tighten all bolts.

Completed assembly shown.

Place the 1.25” round spacers between the front holes on the skid 
plate and the chassis. Insert the new M8 Bolts into the front holes 
and thread them into the chassis. Orientation: (1) M8 Bolt, (1) M8 
Washer, skid plate, long spacer.


